datavickeoe

TP-900

PTZ Z #2483 fa o

55 PTZ 2 oK

2 LR PTZ

W

TP-900PTZ Z S HfIE 5 PTZ 2 SR - M5 % PTZ

2 EERAS A AR R Ak T PTZ

=

\

CHEERAS L EET LR R S FROBE -

W



TP-000 Jh e Bt st > ¥ L PTZ 2 SRSk T foL B AR 0 X AT B 4 Sk

PTZ Z 4715 -

BHAIFTR > BN E R PTZ 2 SR

¥ PTZZ oA RIEMIE S 7 R ™ & E A fath o TP-00 PTZ 2 o 4B/ 458 fb 430 L1E

FEEER o TP-900 VUK KX GAERPB AL > XVl A EEREFpJDEIRE 2 0 R




WrAEe PTZ 2 SHR e+

Pl b £ A AR R T LR T A o e PTZ HE S % 4R » 28 TP-O00PTZ 2 3

#EApE IR -

PEF R EY 25

TP-900 & 3 M R 115 ¥~ 43 % fa ¥ % » P22 % ~ chdvPrompter Plus & * 423% > 72 7 & & 3377
Laaas @'f‘ﬁ;%ﬁ T g H o
Menu dvPrompter English

Home

Settings Welcome

Network ,
(]

Help

o ) & R

Welcome to the DV Prompter app for smartphones and tablets. The app is called DV Prompter... Here \l/

are a few instructions on how to use it

Your documents are listed on the main Documents screen. We have provided an interface which makes it

easy to find the right document using the Title and a preview of the first few lines of text

You have the option to start, edit or delete each document. Tapping the start button will scroll the text

up the screen automatically (if this has been set in the settings) or the text will start on your command

/Y



—,

Wi HDMI & IPFH 5 B &

e HDMIﬁg?]%'frﬁs?]:': » #-5 B TP-O00 i 45— A2 > N AR PRFH o ok T E
HOMI i » i 7237 15"LCD B % i 5 — % HOMI A% B¢ * » X % % = 2 04 « HOMI g 120 7

¥ s 1 INBT T E o




EF AR E BYrANF ) ~ FA S oA D A - BYAR R Y SRR

A o BB R EH O B P oblE b B A s 4 o

I

P2P — - kbR D

B PP (- #- ) PEEEY BT S L TP-000 PFo ol F feaker il F i 4 B ARAR P

FpEma EARB LR BERN - K- F- PN o d 0 BRI 5L R

B dedhr o FPFRRAPE 0 8 AR R E L HF RN R e PP HE T F R e
B s BB AR TR AR R P R Y e p BRI o

da‘l:qvﬁ@ﬂ@@) P2P Interview Configuration

TP-900 % =& 15 #F+ F F L& WAL > 7 F AEPB Y F2 TidiE HDMI S T F



L

TP-900 “#Rs gk fip &R EF

F_L
Jt

REFBEF Y o BERIEOR € 5% o TP-700
FARR 15" FFE G AWM R > ¥ 5 E HOMI B8 B g 3R h T Bia

* o

M € R

GRS ELET D AR P 2 Bp E 50 PowerPoint ¥ i & YAk HS hE P b PR EARSER B AL
4o TP-900 % 2 A& 15" ¥ H 5 5 A MGt il 0 ¥ F 1 E HDMI i 4 & 1 PowerPoint

BEFW TV F LR o

HDMI

»
»

L R — PRERF] > m%*



* 4% PowerPoint v Keynote [ 3%

% T FarAaZ b B ARET L E Web B o ¥~ (& ¢ Powerpoint & Keynote f§#F > ¥ 12
®* A A WR-500 7 74 B & Web g fefrdlh o kdp+41#§4F o dvPrompter Plus £ 322 3 %r

Al B RA R R DT MR F U AR b Bl R Y
f |

dvPrompter Plus £ 3§ P& 4% » F TR EEE e Ay L5 0 PP F+ R LFEHET -

W RealTime W/
) Editing

\
\

2



VEA WA E

TP-900 + ¥ 1/ i * 2\ i 1 WR- ; g
4T L AR WR-500 £ 45 ibiE C FS-30 HPEEISHI B A E ¥ 5 USB 43 B g ¢

CERE TRt VI




Gl

PTZ E 5B RWH

TP-900
R o 15" monitor with integrated dvPrompter Plus software
s w7 X Adjustable Lift
IR AR/ B = R N/A
English
Dutch
Spanish
XIRZ MRS Portuguese
Russian
Chinese(Traditional)
Chinese (Simplified)
Width: 535mm
PR R Height: 590mm
Depth: 350mm
LCD Native Resolution 1024x768
LCD Brightness 350 NIT

* Monitoring and control via LAN

T FE 5 ) *QOptional WR-500 wired hardware remote or FS-30 Foot Pedal
*Supports generic presentation remote controls with USB receivers

HiE 10.3Kg

AR 0~40 °C

wIR 12V DC (Mains adapter supplied)

Carry Case Dimensions
(excluding handle)

N/A



https://www.datavideo.com/tw/product/TP-900

B

1 x 15” LCD Control Unit

1 x 12V universal Mains PSU

1 x USB Mouse

1 x 5m Ethernet Cable

1 x 3.5mm input adapter for WR-500 remote control

1 x TP-900 metal base tray with tripod plate

1 x 150 x 150 PTZ Scissor Lift

1 x Cloth Hood

1 x M4 CRV hex tool

1 x 9mm long % thumb screw with red dot

1 x 9mm long % thumb screw with washers

8 x M6*40mm screws

10 x M6*14mm screws

1 x 16mm long screw

1 x 3/8 to Y2 adapter

4 x 565mm Vertical extrusions

2 x 475mm horizontal extrusions with 90 degree joining blocks
2 x 325mm glass support extrusions with single end caps

2 x 250mm PTZ lift extrusions with both end caps

1 x 70/30 mirror glass

1 x Glass support bar

2 x Spare black extrusion end caps

2 x Spare M6*14mm screws

2 x 12V regulated DTap cable

1 x Small CRV hex tool to remove the tripod plate from item F
1 x Medium CRV hex tool to remove 90 degree joining blocks from item

Q




